Mr. Gunstenson
WAM 10

Unit 7 - WA10.10 - Unit Pricing and Currency Exchange Practice Questions #4
Be sure to input your answers here to receive credit: https://bit.ly/3nRD85k

1.

2.

3.

The markup on a bicycle in a sporting goods store is 145%. The bicycle’s wholesale price is
$375.00. What is the markup in dollars?
Marco buys a certain brand of shampoo from a supplier at $8.39 per bottle. He sells it to his
customers at a markup of 32%. What would the markup be?
A hanbok is a formal, traditional outfit of Korean clothing. At a markup of 45%, what would
be the retail price for a child’s hanbok with a wholesale price of $123.65?
What should Max charge for a package of paper plates in his store if he bought them for
$8.50 and wants to make a 65% profit?
What would you have to pay for a jacket that is listed at $74.25 if you live in a place where
the only tax is 5% GST?
Find the total cost of a washing machine that is being sold for $888.88 where PST is 5% and
GST is 5%.
Calculate the HST (11%) on a return flight from Cranbrook, BC to Vancouver, BC that costs
$465.00.
If there is 5% GST and 7% PST. How much GST and PST would Krista pay on a can of
paint priced at $62.12?
A watch that Harry wants to buy sells for $84.63 in BC where there is 12% HST. When he is
on holiday in Alberta (where there is only the 5% GST), Harry sees the same watch for
$91.27.

a. How much is the watch in BC?

b. How much is the watch in Alberta?

c. Which watch should he buy?
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